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What is function key? Write different function key

uses in Auto cad.
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Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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Explain attributes and what is difference between

block command and attributes?
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What is 3D Array? Describe in brief.
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Write short notes on any three of following ;
(a) Trim
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(iv)
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A fillet command creates:
(a) Sharp conners

(b) Round corners

(c) A circles

(d) A boneless fish
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(2) fa=1 821 @) A8

How many views can you generates from a
3D drawing?
(a) One
(b) Three
(c) As many as you need
(d) Upto 99
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(]) ®® W T
What is DIM command? Write the name of any (vii) Which object doesn't have an end print?
(a) Circle
dimension pattern and explain it. (b) Arc
(c) Line
SH HHls T 2° [ 9R YR & SH (@) Rectangle
ded &1 7 faasx AT o | (vi)  fPH 9€] BT Ys @isc Tl ©°
(@1) qa
(8) 3ra
8.  What is the importance of layer command in (|) =&
drawing. 8 (2) =gy

(viii)  Command allows us to draw lines at right
angles only.

STST 9491 GHY AR BHIS DI T
(a) Snap

STaTSar 2 | (b) Grid
(c) Ortho
(d) All of the above
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What is template? How is it customized.
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5. Explain MIRROR and MIRRTEXT command.
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What is unit command in Auto CAD. Write step

wise process.
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Which is an organization tool available in
Auto CAD drawing sofware?

(a) LAYER

(b) Block

(¢) TRIM

(d) None of these

icrbs ST AfcdaR ¥ fa=ifea o
¥ B—u1 IJfAIgeT < 38—

(31 MR

(@) &t =di®
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(?) 379 4 HIg 718

Ellipse command is a an:
(a) Drawing command
(b) Modifying command
(c) Zooming command
(d) All of the above
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(81) Control +C
(8) Control +V
(|) Control +P
() Control + S

GROUPB

Answer all Five Questions.

|l ufg el & SR 4%5=20

2. What is oops command ? Give its importance in
CAD. 4
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What is CADD

(a) It is a system software

(b) It is an application software
(c) Both (a) and (b)

(d) It is hardware
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Which key stroke will save a drawing?
(a) Control + z
(b) Control + s
(c) Alt+s
(d)Alt+u
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